	Role of a:

As I increase the value of a (larger than 1), I notice…

a vertical stretch up
As I decrease the value of a (smaller than -1), I notice…

a vertical stretch down
      As I change the value of a between -1 and 1, I notice…

     a vertical compression up  when 0<a<1

                      or down when  -1<a<0


	Role of h:

As I increase the value of h, I notice…

a horizontal shift to the right

As I decrease the value of h  ( h becomes negative), I notice…

a horizontal shift to the left
       When the value of h  is zero, I notice…

      no horizontal shift


	Role of k:

As I increase the value of k , I notice…

a vertical shift up
As I decrease the value of k  (k becomes negative), I notice…

a vertical shift down
       When the value of k is zero, I notice…

      no vertical shift

	 Other Observations:

The role of “a” becomes a factor of the step pattern to determine the shape and direction of the parabola.

The basic step pattern when a = +1 and delta x is +/- 1 is:   

1, 3, 5, …, etc

1 left or right from the vertex, 1 up

another 1 left or right, 3 up

another 1 left or right, 5 up




y = a(x – h)2 + k








